£8 METEANIBY. KXEBRUVMERHAEF — KHRE (FAi22%F)

(BEEHIALLL)
BTE IHEHM | KEXEH |HERBFESE BTH THEH | KEEH | HERERESE
(T8 (A) (FH) (Ti5) (A) (FHA)
AHZEHRE —TBH 5 177 483901 It A —TH 6 36 29,586
X#&#®E —TH 12 214 377527||fF = — T B 1 20 x
AX#HHE =ZTBH 6 54 72501 || &£ —TH 2 46 x
AHZEHE MTH 13 129 124500 ||9f & =T H 10 207 284,634
A#HFE ETH 12 90 101,845 |f & ™ T H 2 42 x
K#HFm —TEH 31 296 279920 &= FHTH 1 5 X
Xx#&™m —TBH 34 337 400,150 [ £ A TH 4 52 72,992
AX#HFm =TBH 28 287 406,084 |lf & £ T H 7 66 67,501
A#HEE MTH 37 379 862584k &£ JNTBH 21 214 276,702
AX#HFm RTH 17 162 181601t £ — T H 3 46 75,637
AX#HFEF —TH 14 129 195346 [ £ = T H 5 39 43514
Xx#&HR —TH 7 205 380073t £ =T H 8 107 131,696
AX#HFEF =TH 6 45 61,736 i £ MW TH 1 7 x
AX#HEMA —TH 31 398 376078t £ HT B 5 77 109,293
X#EM ZTH 22 310 382226 it £ AT B 3 15 16,335
K#HME =ZTH 13 291 816565t £ £ T H 1 25 x
A#HFMB MWTH 28 597 975372 it £ I\ T B 9 105 156,350
A#HEME RETH 9 82 884719 ||R/EE —TEBH 2 249 X
AX#HFEME ANTH 1 6 NmESE ZTH 100 2081 6,426,699
A#HEWE £TH 16 456 1210271 [[(R;E& =TH 5 76 477 581
XK#EdL —TH 2 14 & & —TB8H - - -
A#FEd ZTH 1 4 E & ZTH - - -
X#FdE =TH 3 21 14734 & =T B 1 19
A#Ed WTH 1 4 XE & mMTH - - -
K#HFId HATH 3 41 112313|5R # EHTH - - -
K#HEd ATH 4 46 921915 #& NXTBH 1 93 X
AHZEAE—TH 5 59 158477 (kM s —TH 3 46 530,413
AHZABZTH 3 24 22922 ke S ZTH 40 927 2,170,164
e —TH - - -HmEe =TH - - -
EHME ZTH - - e mTH 13 259 908,037
THME =TH - - -HiEe ATH - - -
EME MWTH - - -|EmeE ATH - - -
THME ETH - - -HiEes £tTH - - -
EHME ATH - - -IX & # X &t 676 10,602 24,312,365
Bis —TH 7 145 740505||% % ) 1 10 x
Bi#ME —TH 8 194 646843||78 e i 1 5 X
W ¥ —TH - - -4t e iig) 1 4 X
W £ - TH 1 4 X8 B A @ 4 52 37,000
W ¥ =TBH 3 43 57168|(H & & 77 A BT 2 11 x
W £ mTH 1 43 X|BHEHH—TH 4 37 25,363
THOHELE - - -|BEREAE=TH - - -
REA —TEH 6 52 65632||HEFH=TH - - -
HEA —TH 1 4 x|HE AT B - - -
mEA —TH 3 22 32440|HEFHET B 56
mEXA ZTH 3 21 33264 & K ¥ H - - -
EmEXA =TH 2 20 XNEDA —TH 2 14 x
mEA WMTH - - oKX ZTH 6 44 182,445
EmEXA ATH 1 5 DK =TH 6 28 56,426
mEA AXTH 3 16 15936|F & — TH 5 57 70,780
b EA —TH 2 10 I+ & = TBH 23 333 501,798
hEA ZTH 3 50 53317[F & =T EH 3 15 25577
FEA =TH 4 93 147427\ A DBE—T B 1 10 x
mEA —TH 5 72 104983([REAMEZ=T B 3 22 25,828
mEA ZTH 3 27 40261 AR —TH 2 32 X
ttEA —TH 2 65 NJANER ZTH 14 198 330,541
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BTTH IHEH | KEXEH |HERBFESE BTH THEH | KEEH | HERHRESE
(T18) (A) (BFA) (T15) (A) (FA)

ANE =TH - - & % —TH 8 44 27,743
ANE MTH 2 8 gk & ZTBH 6 91 86,883
ANE HTH 6 129 146,184 %k & =T H 14 209 295,339
ANE ANTH - - —[EAE —TH 13 164 239,032
mTHR —TH 3 30 28620 |l —TH 6 42 41,982
Bm¥ER —-TH - - EAE =TH 13 154 174,524
mTE =TBH - - —[FESNE —TH 15 162 236,769
ttF®E —TH - - [FESNE ZTH 18 184 266,521
dtF+ER ZTH 2 54 XA =TH 20 406 433,775
dtF+ER =TH 1 5 XFEAHE mTHE 26 350 415,117
AJIIET —TH - - —F/E —TH 20 242 346,687
HJIET ZTH - - A ZTH 26 285 325,930
it —TH 21 228 291143 |[@AM =TH 27 302 581,037
fhih £ = TH 27 746 730,613 (R /< — T B 11 78 68,393
HEAN —TBH 1 24 XA —TH 8 68 179,080
HESX ZTH 2 22 XA =TH 4 40 47,406
HESN =ZTH 1 5 X <E mTHE 6 74 66,482
HEANY MTH - - FTHF —TH 19 226 250,701
HEA RETH 3 44 61806 | FHF ZTH 37 902 1,821,749
mEX —TEH 1 17 FTHF =Z=TH 6 42 36,571
EmES Z—TH - - HFTAaF m®TH 9 154 266,627
MESX =TH - - Hx o —T8H 19 330 416,465
HEA WTH 1 16 £ O —TH 31 373 491,169
EMEA ETH 4 33 22217|% B =TA8H 31 852 1,461,226
& —TH 4 38 75664 |ElExO0 —TH 1 5 X
thwas ZTH - - ExO =ZTH 6 55 53,785
& =TH 7 57 64505 |llm%& 0 =TH 4 30 30,295
s ©TH - - ZE)l —TH 14 141 224,934
tt& HETH 7 69 85000 (|ZEEJ)IIl —TH 29 591 949,720
oo X OBt 173 2,453 3514903 [EREH —TH 4 28 33,513
Bt —TH 25 395 694,331 |[FEEHE —TH 15 271 388,792
Hitn —TH 10 316 520743 @ H — T H 7 54 67,364
Hfta =TH 12 166 364,662 |[FgHE —TH 24 217 235,269
H#tHN mWTH 17 280 324812 |FaEH =TH 11 97 119,872
BN RETH 35 486 1084671 |[FaEH — T H 2 13 X
Bt ANTH 16 351 895822 |[fEEHE —TH 3 32 20,209
mfts —TH 7 65 60319 ||FEEH =TH 3 35 33,809
i S i =| 20 268 355,199 |[FEEH MTH 2 8 X
wmits =TH 26 244 304113 ||FaEH HTH 3 43 81,487
wmitN mWTH 9 134 343,360 |[FESEHE N TH 1 8 X
¥t —TH 21 194 196,073 ||FEEH £ TH 1 5 X
t¥ts =ZTH 13 200 379871 |[FEHE @A J\TH 1 23 x
N OB B A 8 80 918618 H —TH 7 81 118,440
B H —TBH 13 104 213530 H = TH 2 10 x
BT B —TBH 6 30 25575 B =T H 5 37 31,403
¥ H =TBH 3 20 178178 B MW TH 6 44 26,321
¥ H mTH 8 62 86555 |’ H H T H 3 76 59,876
¥ B ATH 3 19 12,683 (EEA AR — T H 4 60 114,393
¥} B KTH 3 30 38818 [[EEHABIZTH 3 62 74,754
APH —TH 27 258 865,197 |[#riEMA —TH 2 10 X
AXPHA ZTH 42 552 1016489 |[#rs&EH Z—TH 3 16 7,153
APH =ZTH 8 97 166,776 |#TEH =TH 8 82 88,682
PHEHE—TH - - I B X Bt 899 12,259 19,476,231
PHEHZTH - - -
FHZEE=TH - - & it 1,748 25314 47,303,499
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